10.3 Other Similarities
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1) Find the indicated measurement given that the segment is anlangle bisector.] ™ L—\ == ML/L
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2) Find the indicated measurement given that the segment is a 3?\b sde in hn,_\“(:’
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Angle Bisector Similarity: An angle bisectorin a triangle divides the triangle into two similar triangles.
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Parallel Line Similarity: A line parallel to one side of the triangle splits the triangle into two similar triangles.

3) Find the missing length indicated.
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Right Triangle Similarity: The altitude (height) of a right triangle splits the triangle into a s t of 3 similar

__triangles. i [ \

4) Find the missing length indicated.
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